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1 All circles aré imilaf
(A) congruent (B) of th s€
- (D) N ne
(5 cyclic
o - the
#.60!
2. lfxt—x-421s divided by *
remainder will b@
(A) 7 (B) hese
\ (20 (D) noné?
L
rponateé
3. Recrystallisation of sodium ¢@
gives
(A) Baking soda

(8]~ Washing soda

Bleaching powder

(C)
(D) Plaster of paris
4. ThecombmalmnowevmananaDada“‘e'e
called as
(A) Mandal (8) District
(C) Gana (D) Hobali

5: Roadihe10!‘0\\mgdmﬁcnphonsahoultypes

of biomes
1. Grasslands of South Africa are called

Velds
2. Grasslands of North America are
called Prairies
3. These both are temperate grasslands
biome
Select the right answer given below

(A) 2only (B) J/L'N\’

(C) 3only B Allthe above
6. Maf)ab/h‘@\ralha has ___Chapters
U@}/m (B) 20

(C) 22 (D) 24

7. Find the missing term (?) from the options
for MN, JQ, GT, ?, AZ, XC.
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6. HEMAH _AEE R |
(N1 (B) 20
kit (D) 24

7. MN,JQ,GT, ?, AZ, XC &g {< & (?) e
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(A) EW
(C) EX

(B)
(D)

DW
DX




i g e as
equauon ax—-y=? 3

g The
9x-3y+C=OlfC= 8
i ese
((2; _10 (D) none of th
g. The ost son of pandavas is
' (A) hudhanyaka
A 'Yudhlshlhira
(©) priotpath!
(D) Angeerasa
70. 1117 October was Monday then 1 ymOctober
lies o :
\,,GAT' Thursday p) Friday
(®) wednesday (D) mMonday
11. Consider the followind statemgnts'regarding
Himalayan mountains and its rivers an

select the right one-
(A) The Himalayan mountains are young
weak and flexible in their geological

structure

(B) Himalayas
flowing rivers wh

youthful stage
(C) Bothare wrong
JPr Both are right

int on x-axis whichiis equidist

are dissected by fast-
ich are in their

12. Thepo antfrom

the point (7, 6) and (- 3, 4
@A) 1.0 (2,0)
(©) (4.0 (D) (3.0

her is 5 times that of his son.
age of father was 8 times
Find the present age of

13. The age of fat
3 years ago, the
that of his son.
father.

(A) 42 years
(B) 48 years

\yg/w)fears
35 years

10.

11.

13.
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* Four cubes each of side 5 " are joined 15.
&)lid'? end. The surface area o™ (LG
s
‘ :‘B\) 225 em?
; \.-‘e;fzo o
' 450 em?
. ©) S00 cme®
‘ W,
E (A;'"C:\ of the following form an AP ? 16.
PR 2,59, ...
®) 03, 033 0333
c 111
w{}‘,—4 8 -
v2, V8, V18,32, ...
17. lf £
an; ‘"jeans ‘~', ‘"~ means ‘x', X' means =’ 17.
A) * means ‘+'then, 12x4+12+5-8=
B ; (8) 15_
0 0
Indori river rises near 1’.8\‘
JW (A) Indore (B) Kaithal =
2 (C) Bhiwani (D) Karnal
19. One of the South Asias oldest road in [ 19,
Haryana is
(A) Hundred Feet Road
(B) M.G. Road
(C) Main Tank Bund Road
\Wd Trunk Road
20. If the area of a semi circular field is @
30800 sq.m. then the perimeter of the
' 22
field is (use T = A)
(A) 240m 720m
(©) 460 m (D) 840m

(Dana NA

- i
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gfraTT %) g et s 3
ater i B |
(A) 5 (B) 6
(C) 4 (D) 3
5 # 1. yan 1e) AT A mgqtraﬁmum
mu & | wfonyeh A1 1 g AR 2
(A) 225 cm?
(B) 20 cm?
(C) 450 cm?
(D) 500 cm?

sy et 7

Erfafiad 1 . 8H -1 T T
(A) 1,1,22r3)3. ...
(B) 0.3({0:33,0.333,. ..

O\ =1+ -
®) 42, V8,418,432, ...

If2 4 w1 A g Y ] 'x'ﬂ&‘?j'—:'
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N =
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(A) 4 (B) 15
(C) 30 (D) O
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(D) T8 ¢h TS
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(A) 240m (B) 720m
(C) 460 m (D) 840 m
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27. Which of the followi"?  Rights ?
orrect about F*md’”.‘.‘ 3 endanger these
\ (A New :e:hnoloqﬂ*”
: nghts amnd political
(B) Equalityisoneo of the ™ o superior to
ideals in India they *
ordinary laws ~onomic and
(C) In India these are ‘]I part of the
political rights inted
Constitution
(D) Inindiaitis rightly desc -ibed as Magna
Carta of India
28. Read the following sentencés about LEDs

and choose a correct option
(A)

' A
\ 5
\J

=

They contain mercury :
They consume less electricity becauss
they produce very less heat
Both (A) and (B) are correct

Both (A) and (B) are wrong

(C)
(D)
29. Mahila Police Volunteer systemis introduced
in two Districts. One in
(A) Panipath

\UB) Karnal
(C) Kurukshetra
(D) Ambala

30.
can be coded as

(A) 58
\_er 57

During 1857, Sepoy mutiny.the Moghul
emperor Bahadurshah Zafar was arrested

(D)"47

31.

Mam Hudson

(B) John Nicholson
(C) Sir Hugh Rose
(D) Colin Campbell

If ‘SUN’ can be coded as ‘54’ then'MOON'

27.

28.

29.

30.
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(D) (A) 3R (B) &I i €

(D)
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HTER | THE

TNRIEIEE

(B) FAT

INGTH

(D) HTEl

gfe 'SUN’ &1 & ‘54’ & Al ‘MOON' &1 R

(A) 58 (B) 51
(©) 57 (D) 47

1857 % faurdl fasie & < grer we
SEIGEIE SR & gR1 PRIwa foma Ty |
(A) ¥ EeEA

(B) S Frehtews

(C) Wy Iw

(D) Hifer Fuae




Ssing number in the sequence
125, 216.

Ly 27
(D) 16

33.

Tl'.we dance performed by women in
bridegrooms hoyse is

(A) Rasleela

(B) Phag dance

(C) Loor dance
__(B)" Khoria dance

34. Match the Plant structures given in the

Column — A with functions given in the
Column - B,
Column - A Column -B
I. Stomata 1. Absorption of
water
II. Xylem 2. Transpiration
I1l.  Root hairs 3. Transport of
food
IV. Phloem 4. Transport of
water
5. Synthesis,of
carbohydrates

Lf:’lﬂmganswer code.
1-2,11-4,11-1,1IV-3
(B) I=1,11—4, Il =8IV 2

C) I-1,11-4,1h-2IV-3
(D) 1=5 103 l-%1V-2

35. Harshavardhana ruled Thaneswar during

W 647 AD  (B) 400 - 350 BC

(C) 200-250AD (D) 250150 BC

36. State flower of Haryana is
(A) Jasmine
Sacred Lotus
(C) Rose
(D) Hibiscus

4/2018 (1) (E10)
1,8,7.64, 125.216ﬁa‘?lu@1m

3. A0

il | (B) 27
(A 25 (D) 16
(C)
ﬁmﬁmmmaﬁm‘f"%
33. gc
(A) e
(B) ki
©) &7
(o) ST
W—Aﬁﬁumqﬁaﬁmam-s
M o F @ B
wied - B
e~ A
i 1. SAEIISI
TS A
J Lt dm X 3. WISH Fl
/)» gfiaed
v Wﬁ-qq,// 4. I &1 giided
5. FEIERIE
HITHUl
IR F2 I |

) 1-2,11-4,11-1,1IV-37
B) 1-1,11-4,111-3,IV-2
(C) 1-1,11-4,11-2, IV -3~
(D) 1=51=3,H=1,IV-2
35. THQUT 4 AT T & 2 A
feram |

(A) 606 — 647 AD
(C) 200 - 250 AD

(B) 400 - 350 BC
(D) 250- 150 BC

36. eREmm 1 T I @
(A) =
(B) ucd
(C) T
(D) TS«
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37. « Engineering

PREW _means
k (A) Population Regulatt
wWing Jomic Wing

(B) Panchayath Ra) | “““,\.H”.] wing
(C) Panchayath Raj End wing
i (D) Power Rules Effec ve
Jties in which
} 38. Which among the followind® Il“l in first ?
] British company agents ““Hrh ; )
{ (A) Kolkata G Bombay
\__(C)Madras (D) Koce hi
39. Haryana has Digtriote @S 1]
2017 - 18
\_(A) 22 (B 25
(C) 24 (D) 28
40. Which of the following rivers Is not a
tributary of Brahmaputra ?
(A) Kameng (B) Subansiri
(C) Dihang \JD;/Sﬁﬁ‘amalekha
41,

Following is not a part of neuron
\/{'Kf/Colleclmg duct

(B) Dendrite

(C) Cell body

(D) Nucleus

42. Read the following statements.and choose

the appropriate one

(A) India has the largest number of medical
colleges in the world

(B) India is the fourth largest producer of
medicines in the world and is also a
large exporter of medicines

(C) . Both (A) and (B) are wrong

\_4PJ Both (A) and (B) are right

43. Kapidhvaja is another name for
(A) Krishna

'\_’(Q)//Ar}una

(B) Balram
(D) Karna

as

39.

40.

41.

42,

4
43.

) Frrferfad 1 8

(i T i

o B

PREW i el @
(A) population Re
Wing b
Yant payath 1a) '
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=frmom H 2017 - 18 ol
(A) 22 (B)=25
(C) 24 (D)” 28
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(A) T
(C) feam

(8) gerrad
(D) geruidn
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Hieu anfedhl

(A)
(B), SgT5E
(©) =ifara frehr
(D) 5

fFraferfiaa ot A1 afen 3ik 3o 9T |
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B
e |
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IeTeeh 3R Ueh sy e R |

(C) (A) 3 (B) Al TTetd &

(D) (A) 3R (B) 31 wel &
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(A) E/LUI] (B) RWUTI
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&5 ooy 1A AT §H ————
: 1 B) T
h held drum is called as #a r :4 tD) e
lak (B) Mrudangam (A) ; am% 1
N (©) Mﬁﬁxfrzﬂﬂﬂ“’*ﬁ
c) Tabla \ (@) Damru iﬂﬂ W
y the | 45. ® A% (B)
45. Find the word which 18 different from the - e
. other 3 options given below. (A) (8) .
(A) Nepal \BIE BN (©) mﬁfﬁﬂ ¥ fo wfEg 2 |
C) pakistan LiD) “Manipura gﬁﬁ —— -az
i ’ mﬂ@m (B)
46. Altaf Hussain Haall i 1887;10;5 for TIS 46. (A) a% (D) W
ol ( onne _
(i) . 10/ (D) Mushairas (C) e @ 3 | &9 M
\_{G)~ Poetry / ﬁgﬁ@mu 39Td T .
' el 3
47. Two coins are tossed simultaneously. The | 47 jTCﬁ F0 # @ 1 nH /l
probability of getting exactly two tail is (B) 2 ey A
1 A) 1 1 ] =
(A) 1 ® % ( 1 ® M uT 1
/ C 3
© /3 S ! <61 e T A © |
48. Tangririver is the tributary of 4Tl —_—— B) =
(A) Sahibi (B) Indori ey e | (D) TR
\_4ey Markanda (D) Ghaggar o e . e 71 S 20°C
49. Resistance of a metal wire of lengthy1 m 497 17 Wﬁ%qggﬂw o 0.3 .. Tl
is 26 Q at 20°C. If the diameter of.wirenis w2608 | 2 ?
0.3 mm, what will be the resistivity of the <5 AT T U1 i wfaQerendl #1 257
metal at that temperature ? (A) 484 10-5 Om Q2
(A) 4.84 x 10 Qm (B) 384x10-°0m 2('9/
(B) 3.84 x 10°5Qm 15103 om e
(C) 2.84 x 10-° QM (C) 2.84x% ﬁ/
1.84 x 10-5'Qm (D) 1.84x10°°Qm
50. Which of the following natural resources is 50.¢ f=fafaa fi.ﬁ ferm Sﬂ?ﬁﬁﬁ Eﬁﬂ COlCCi| TR
referred as 'buried sunshine’ ? Uy FEd R 7 ;
(A) Gold (B) Silver (A) dHI (B) ial
Coal (D) Shale gas (C) =IFem (D) il ﬁg
: . o ! i
51. If 5tana = 4 then 2Sf"“ Z°°S°‘ is 51. 4R 5tana =4 25'_““ 200501 :
Sina + 2COS Sina + 2cos =
equal to CUELE = g
5 1 5
\/ﬂ:ﬂ_ ®) A < ® -
i, > g0 { (8. (D) o
N
Cee -9- *’\
JISE o\ o S Q
) e (
e JROS. T W ,
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river Gangd
- [
(A) Sarasvati ,) Kaver
N\ Yamuna
b et wing goods or
= 0°
W \| tax rate

53 Under GS

k_‘,,d vegetables
C \J’\!c'“ A

nadi yarm
ilk worm and *"
ecraf
nd 4

and 4

(C and 5
(D) All oVve
but it is lustrous
Chlorine
lodine

54 isa
A)
C)

non-mela
(B)
D)

Flourine
Bromine

55. Which among the following countries with
which India does not have Free Trade
Agreement (FTA

(A) South Korea

(B) Japan

(C) Brazil

(D) Thailand

56. Jagirdars means
(A) Bankers

(B) Landlords
(C) Agriculturists

(D) Businessmen

57. Saltrees are found in
(A)» Gurgaon forests
(B) Sonipat forests
(C) Rohtak forests
(D) Kalesar forests
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55.

56.

57.
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o

(A) Zfeqo FITE
(By» UM
(C) I

(D) ',;77&7

iR &1 214 2
(A) EET

(B) “HIER

(C) F9=

(D) FHER
aid 34 1 91U A 2 |
(A)
(B)
(C)
(D)

TG % 34
IHTd & 34
Teds & a4




59.

60.

61.

62.

D) /A

digits whose sum s
the number, the digits
hen the number IS

(C) 18
noneé of these

Campaign against female foeticide Is

called
(A) Yatra Scheme

(B) Bhagya Jyothi
(C) Beti Bachao, Bet padhao

(D) Lady Police Scheme

wing statements with

Consider the follo : .
reference t0 Constitution Amendment Billsz

1. It can be introduced by the private
Members of the Parliament.

2. The President cannot disagiee-over
it, he can only send it back once for

reconsiderations
Which of the above IS (are correct ?
(A) 1only
(B) 2only
(C) None
(D) Both 1 and 2

The famous Patriotic song, which stirred the
common people of their nationalism during
freedom movement , “Sare Jahan Se Achha
Hindustan Hamara” was written by
(A) Mirza Galib

(B) Mohammad Igbal

(C) Rabindranath Tagore

(D) Sadaat Hasan Manto

59.

60.

61.

62.
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63. |If ‘vmn/1""“”11”1»”-11v.nlln"""" : n () 1 €
p (x) = 2x* 4 3x = # @ -1 1(/\) ;) (D) 3 ‘
(A) 0 3 < T o Al
©) 0 / J R j‘)\/ 0, \/‘;/ f "/1 2 3
,m Of equations 64 gd A B o
64. The solutions of 8Y*" . £ goreft & B 8 .
Ji5y =0 ar /2,y J5 .
V2x+ 5y = 0,0’ (A) X =VN&r 1 } o i
(A) x =2, y=V° B) x=0,Y Y
' § =rq BN
(B) x=0,vy 1 (C) C Ak acl 46 7
(C) no solution (D) qAd g
(D) infinite solution? - A% |
¥ ot faard 9%
jse is at 65. BIAT fa ATAT
65. Haryana /\'.',t-mh|‘/”o‘ " (A) reddh (B)
(A) Rohtak (B) Ambala ©) ?T;-i'm" (D) 'ﬂ'ﬂqa
(C) Chandigarh (D) Panipat . ) o % gl 2 T
vature | g6, 1@ &g 1 TP 2 Tt g 2y >
66. When object s placed ! center of (Jurv‘dlU 2 . n ‘_”,h >4l yfefera &l ATl ©
of a concave mirror, the image size IS o
A (A) diHd
:F ) [EJnlurged (B) I gAl
3) Diminished . g f
v =1 & Eld &l
(C) Same size as that of object (©) Ffi;f y o Ou
(D) Point-sized (D) fege | B ‘
,/’ o N A ﬂmzmv
67. Which of the following is not a right | 67. ffafad d 8 HH mwa s
difference between democratic and other > 574 w=ai % = el HAd{ el © (
forms of Government ? y . . e ot 3 am
(A) In Non-democratic States don’t not (A M —RdiEe Tl |, TSI p
require all citizens to take part in mq‘ﬁmﬁmafm ATaa® T8l |
politics. ot o :
(B) Both forms have universal aduit (B) gy &4 | s 9956 dd BEat
franchisee, i.e., one vote and one o1l U T U A 2,
value. " =
(C) Most non-democratic:. Governments (C) waifush ST gl dedl & 1
would like citizens not to take part in P »
politics - P aTfeens T O afasie 4 |
(D) Dechra;y depends on active political (D) RIETE R R C BN E T RS ITED
participation by all the citizens. fqeqfian m ﬁ"h 3
68. The zoo had some Lionsand some Parrots. 6 oY N - ST
8. % fufearm # 3 T
The keeper counted 15 heads and 50 legs, : T %@ TR AR A & | A& H
then the number of Lions is 3 15 T2 3 50 20 fi | I < g B
A) 9 (B) 1
((C)) 8 rD) ; f Lo ()10
) none of these SR
(C)=8 (D) 37+ i
-12-
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| L
n appropriat® prepositions. Pick out the Wr
Fill up the planks wit p
coffee. 73. (A Retic®
69 ' p"ﬂe( 18‘ (B) P(‘dan{‘
(A agains' (C) rretriv®
(B) not (D) plenafy
pa— 74. (A inormite”
(D) than (8) Intrinsi¢
acond floo
70. Our flatis the se r of the (€) Incond™ g
building (D) Impurty
(A) I Choose the corfec‘w
(B) by | had changed MY
©) at 75. | notifiedd ST
©) on addressS,
(A) that g
Change the given sentence into indirect (B) tp.meba" ok that
weech (CY\_with the b2
(D) the bank tha!
71. 1 said to the boys, "YU should do your { night. | would
26. | decided tostaydnome lastieg
duty”. have gone out fl —— so tired.
A ! Sa'd to the boys that YoU QR)° (A) wouldn't have been
their duty. | ' (B) hadn't been
(B) ltoldthe boysthatmeyshoulddo their (C) wasn't
duty. (D) weren't
(C) Itoldthe baysthatyou should do your
duty Choose the correct form of the verbs.
(D) |orderedthe boys thatthey shoulddo | 77, Tom his hand when he was cooking
your duty. - the dinner.
(A) is bumning
72. The teacher said, ‘I am busy now”. (B) have burnt
(A) The teacher said that he was busy (C) was bumning
then (D) burnt
(B) The teacher says that he Is busy x
- 78. There is a programme on television that
| want to watch. in five minutes
(C) He was busy says the teacher now. (A) It stant '
(D) The teacher told that | was busy now. (B) It must start
(C) Wtstarts

(D) Itis starting
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